

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

## Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

## INVOICE

Invoice Number: 1425 09 Invoice Date: Apr 12, 2014

1 Page:

Customer ID	Field Ticket#	Paymen	Terms
Murfin	62058	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Apr 12, 2014	5/12/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Michael #1-4		
220.00	CEMENT MATERIALS	Class A Common	17.90	3,938.00
8.00	CEMENT MATERIALS	Chloride	64.00	512.00
231.35	CEMENT SERVICE	Cubic Feet Charge	2.48	573.75
799.50	CEMENT SERVICE	Ton Mileage Charge	2.60	2,078.70
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
75.00	CEMENT SERVICE	Pump Truck Mileage	7.70	577.50
75.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	330.00
1.00	CEMENT SUPERVISOR	Talon Jones		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
				,
			1	
			1	1
		Subtotal		9 522 20

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,332.77

ONLY IF PAID ON OR BEFORE May 7, 2014

Subtotal	9,522.20
Sales Tax	351.55
Total Invoice Amount	9,873.75
Payment/Credit Applied	
TOTAL	9,873.75

6540.98



## ALLIED OIL & GAS SERVICES, LLC 062058 Federal Tax I.D. #20-8651475

SOUTHLAKE, TEXAS 76092	SER	VICE POINT:
		Oakkerke
	CALLED OUT ON LOCATION	JOB START JOB FINISH
	/ / //	GOINTY COUPLY
OLD OR VEW (Circle one)	19 to N W Into	COUNTY STATE
CONTRACTOR Murfin #2  TYPE OF JOB /2/4	OWNER Same	
HOLE SIZE 85/4 T.D. 224	CEMENT	
CASING SIZE DEPTH 2-2 W	AMOUNT ORDERED 22	A ala a
TUBING SIZE DEPTH	31/2 CC	DSFS Com
DRILL PIPE DEPTH		
TOOL DEPTH		
PRES. MAX MINIMUM	COMMON220	@ 1290 3938.00
MEAS, LINE SHOE JOINT	POZMIX	@ 72 - 2738.50
CEMENT LEFT IN CSG. 15 FF	GEL	
PERFS.	CHLORIDE 8	@ 64.00 5/2 00
DISPLACEMENT 13.5 bh/	ASC	
EQUIPMENT		@
PUMPTRUCK CEMENTER Talon Jones		
# 422 HELPER Wayne Metilophy	-	_@
BULK TRUCK	<del></del>	_@
" OVA DRIVER O WORL ( //// ). I		_@
BULK TRUCK		
# DRIVER	HANDLING 231.35 cafe	
	MILEAGE 10.66 Font 75	@ 2,60 20 28.20
REMARKS:	121105 011/200	TOTAL 7/02.4
mixed 220 sks com 3%. a	(J,402017508)	101AC _77025
@ 224st displaced 13 1/2 bb/ water	SERVI	¢e.
Comentally circulate.	SERVI	CE
	DEPTH OF JOB	224FH
	PUMP TRUCK CHARGE	15/2,25
	EXTRA FOOTAGE	@
- Thankey an	MILEAGE MI HU 25	@ 7,70 577.50
	MANIFOLD	@
	mi Light dat 175	@ 4,40 230.00
AA A.	<del></del>	_@
CHARGE TO: Mustin	(846.91/35%)	
STREET	(0,0.11,000	TOTAL 24/9.25
CITYSTATEZJP	PLUG & FLOAT	FAURMENT
	The armon,	DQOL MENT
		<u> </u>
	<del></del>	_@
Tot Allied Oil & Gas Pourison XX C		
To: Allied Oil & Gas Services, LLC.		
You are hereby requested to rent cementing equipment		
and furnish cementer and helper(s) to assist owner or		
contractor to do work as is listed. The above work was		TOTAL
done to satisfaction and supervision of owner agent or		IOIAL
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	
TERMAN WAY CONDITIONS HISTER OF THE TEACHSE SIDE.	90	22 24
1	TOTAL CHARGES	didu
PRINTED NAME / OUO Colored	TOTAL CHARGES 7.50 DISCOUNT 3.332.77/2	IFPAID IN 30 DAVE
SIGNATURE ALLO COLOROR	/ /d	2112 Nel
SIGNATURE A. Longe 1 - 0	6.18	9.43 Net.
pupilo cerazara		



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

acct frod-me INVOICE

Invoice Number: 142792

Invoice Date: Apr 21, 2014 1

Page:

Customer ID Field Ticket # Payment Terms			
Murfin	61350	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Apr 21, 2014	5/21/14

Quantity	Item	Description	Unit Price	Amount
	WELLNAME	Michael #1-4	<del></del>	
135.00	CEMENT MATERIALS	Class A Common	17.90	2,416.50
90.00	CEMENT MATERIALS	Pozmix	9.35	841.50
8.00	CEMENT MATERIALS	Gel	23.40	187.20
56.00	CEMENT MATERIALS	Flo Seal	2.97	166.32
241.65	CEMENT SERVICE	Cubic Feet Charge	2.48	599.29
756.75	CEMENT SERVICE	Ton Mileage Charge	2.60	1,967.55
1.00	CEMENT SERVICE	Plug to Abandon	2,600.47	2,600.47
75.00	CEMENT SERVICE	Pump Truck Mileage	7.70	577.50
75.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	330.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	110.00	110.00
1.00	EQUIPMENT OPERATOR	Paul Beaver	İ	
1.00	EQUIPMENT OPERATOR	Tyler Flipse		
				:
		Subtotal		9 796 33

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3/390.21

ONLY IF PAID ON OR BEFORE May 16, 2014

Subtotal	9,796.33
Sales Tax	773.91
Total Invoice Amount	10,570.24
Payment/Credit Applied	
TOTAL	10,570.24

## ALLIED OIL & GAS SERVICES, LLC 061350 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999	SERVICE POINT:
SOUTHLAKE, TEXAS 76092	Oakieg K2
DATE 4-21-4 SEC 4 TWP   RANGE 34 CAL	LED OUT ON LOCATION 108 START JOB FINISH
LEASE MICHAL WELLS 1-4 LOCATION BEACHS	ey 5 N WIND KOWINS STATES
OLD OR NEW (Circle one)	
^/ _	OWNER Same
TYPE OF JOB PT. A	
HOLESIZE 778 TD. 1997	CEMENT AMOUNT ORDERED 225 Sks 60/40
CASING SIZE DEPTH TUBING SIZE DEPTH	4% gel 14# Flo-scal
DRILL PIPE 41/2 DEPTH 3020'	
TOOL DEPTH	125 04 100 0111
PRES. MAX MINIMUM	COMMON 35 SKS @ 17.90 2416:50 POZMIX 90 SKS @ 7.35 841.50
MEAS, LINE SHOE JOINT CEMENT LEFT IN CSG.	POZMIX 70 563 @ 7.53 841.30  GEL 8 565 @ 23.40 187.30
PERFS.	CHLORIDE @
DISPLACEMENT 1 & ha Swater St Stoney Loby Sweet 12.76	ASC@
EQUIPMENT	Flo-see 56 @2.97 166.32
	@
PUMPTRUCK CEMENTER Paul Beaver	nu / / / ( @
# 120 HELPER YOU Flipse	11/10/11/10/10/10 @ 3.6/10
BULKTRUCK # 82/1308 DRIVER Remove (TWS)	1/2/2/259 @
# 82//308 DRIVER KOMORD (TWS) BULK TRUCK	(1,769.00,000,000,000,000,000,000,000,000,000
# DRIVER	HANDLING 24.65 4+3 @ 2.48 579.29
	MILEAGE 10.09 Jane 15m v 260 1967.55
. REMARKS:	
150 hrs mis 25 sts @ 3020'	<del></del>
Displace and market and	•
20 plus mix 100sks @ 2150	72004
Displace w water I mud	DEPTH OF JOB 30.26 PUMP TRUCK CHARGE 26.00. 47
3 plus mix Yosks @ 275	
Mr 30 sts in R. H. mix 15 skfin mitty	EXTRA FOOTAGE @ 7.70 577.50
Thank Poo.	MANIFOLD @
Pay & Tyler	MILV 75 @ 4.40 330.60
0. 1.1	@
CHARGETO: Mostin Drlg.	(2.126.18/35%) TOTAL GODAS
STREET	TOTAL BYSIA W
CITYSTATEZIP	
CITYSTATE	PLUG & FLOAT EQUIPMENT
	85/E worden plug @ 110.00
	@
To: Allied Oil & Gas Services, LLC.	<u> </u>
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	020 TOTAL 110.00
done to satisfaction and supervision of owner agent or	TOTAL 110.00
contractor. I have read and understand the "GENERAL	GALES TAV /IF Anul
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)  TOTAL CHARGES 9, 796.33
<b>A</b>	TOTALCHAROLO
PRINTED NAME ASTON COLLEGES	DISCOUNT 3.390 2//353 ) IF PAID IN 30 DAYS
SIGNATURE Aprilio Caberas	6,406.11 Wet
Table 1	